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Subtracting 4-Digit Numbers With No Exchanging: Answers
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Adding 4-Digit Numbers - Mixed: Answers
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Addition and Subtraction 4-Digit Worded Calculations: Answers.

695 1 3006 = 7701

5056725 - 1328

51304237 - 901

50764940 - 9416

0127046 - 1168

£7846+£2371 - £10207

70015002 - 1

£76894 82271 - €994

6060+ 2413 - 8473

2971628 - 2348

4700 £4562 - £a1an

4612960 - 3052

£8000-£4712- €128

6512097 - 2584

59076719 - 2208

3120+ 6875 = 9999

1203+ 8756 9999

3147+ 6857 29999

1520+ 8675 9999

3214+ 6785 29999

1542+ 86579999

32414 675629999

1429485769999

412+ 6587 <9999

1432+ 85679999

121+ 6578 29999

2034+ 7865 9999

4123+ 5676 = 9999

2143+ 785 4137+ 5867 = 9999
2310+ 766, 4713+ 5786 = 9999
341+ 765 4731+ 5768 = 9999
2413+ 758, 4317+ 5687 = 9999

2031+ 75689999

4321+ 567829999
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9245 - 7526 = 1719

2635- 1267 = 1368
7597 - 2626 = 4971

2708 - 1633 = 1075
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8243 - 4123 = 4120

9564 - 6323 = 3241

9556 - 7302 = 2254
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5113 + 4026 = 9139

9880 + 9382 = 19 262
5627 + 4574 = 10 201

5144 + 1602 = 6746
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